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o Fo A o)
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& aox-ot=LUx-Qaty &
& (A2-Dx =0t -Latbh e
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> Case L: aelh-12,-43
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EXERCUES

@ Solve the equations wilh espect o x

a) elx +9 < 4ax $x+a

) 4at3x= atxyl

) %a*x-%= lGa-x

d) Uax falx =Ix+4

@) a2 (x-D4alyx+a)-byils=0
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a4\ a - | o |
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C) x—% = > + %+
o ol
%o ba 6 Qo
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1) Let X(%‘ael?\. Then
><>té & xio> Wta
x>‘3<.—:7 X+0L>/3+a.
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= Xyag= '—@tm - ”&EE . *L»E and “i’f‘@

L4

La y ! % 9

'Now,. e MLLS% sovt *}(\,e. Levoesy. '

We claim that - :_i;{@___< 'i{‘L‘%..E_( A

we_ con s‘now S’L\fs eqséggg wf}{r\ CLACoﬁmQa'X‘W ovr wia
J&«e QOQQowimb &V%umeM*g‘

-4-05 -L-TG _ -4-90 =%y

—_—z_ = = g

2 2. 2 2 <

-L4(% NI S 1
7 > 2 . ) >



S T C L S C R DY

“ = i
.

2 2 pA N

From e a@ove_i%’ Q@@'ows AP |
ot il P L Gl [P S
2% 9.

e Now .wa ‘CO_?ts.‘rme Jdné subm %Me{

R R A S 1 oV

(x2-)% + i v ‘ +J; 3 T
xtex=-0% | ¥+ ¢ - T t

ine | L '1' (% - c? o C}) Tt ?
H %u}‘; 'Hw.lc o , o ,
S = (-w, -&«JE)U(—UJ? ) &)U(V&L_{w),

) Soﬁve. - X¢< X?’ ;
SOQLLJO‘OV&

Fex?e xF-x? <o & x*(x4-D<o ©

& x7(xT- N (x2+) <o &
& xZ(x-Olxt+) (xHD) <o,
Clerees . O =L, 4%

X



v | -t o +1

x> R s L%
% | - | - - 7t
X4 - P + +
xbet |+ | 4 o
,€hec{ | - T + ‘}' - ¢ 4

ierebore: S . (o -0y lo4).

L’ NOLC Yaat fhcomgﬁzk c[;x_aésmih‘c jto.ci-ws e\? fae
-?orm QXQ-‘HZ; with a>0 oud Lro e
@Lﬁwa}s i?ostin . C@e(o.usg A L0 ound a» 0), '
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k) x*-Y4 <o

) x1_6 <o

m) %42 >0

Y x%4 92 <o »

o) xi3x >0
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,Sofu, o ?e.Jts Wwe use a %eome.l:rtcaﬁ
Lons"w.c)rion oS S‘nowh, ivi Mae, aﬁom QKMPQQ.,



EXERCISES

@ Solve the Paﬂowmg Stés_kmsoe wime,qutusz!,ltjd<f>.

@) -3 4 X5 4
2—x%

) ~9x < Bx-b o gx®y
| 4

) Ox-l Lkt € Fx-3

) $( 3x? +%x > SxT
| %24+ Ly > %2

e 9Q%-5 < Ix-F
9yt <3

D) -1 o
% %+ | |

(x2-8)(xL+x+6) <0
¥ -1 {

: %)  Txn <
(x-L) (%~ S 2
(x+1) (x+g) |
x?-lx +}) <
X%+4+x-y1




V Agio Qul'e VO- Ques

).e£ x €lR -@e awcm We Ae?me #»e obsofite volue Kl

OQX 09 :

-X ! w<o

> examples : [3]=3% |, [-F|=F |, lo[=0

}—-) ?ToPev‘-ieS 02 oﬂsaﬂuk VGLAC

Ixl>0 | lxl-hal £ )({8( < K[+ 1\31
l-%) = %l Il -1y 1 < -%l < lscl H L
-Ixl € % ¢ 1x! lx-al = lxi l%l , \ [x1
%1% = x2 tyl

}—) Eciun.{ions with absolule volues

Let o,xelh | and pe lotw) ,aud wvelo,0). Thew:
i} \X\:: la.\é-—v X=0 V X =-a

N Ixl=p & x=p V x=-p

3) Ixl=wi s incousistant.

We we Jhe obove 3 F""PerHCS to sollve eq'ml'rol'ls
with afsodule values a5 in Jhe ﬁﬂouing CKQMPI@,



EXeRCLSES

@) 1B a<3<C , show lnat

) A=1%-al 4"1’),’6} - la-6}
€) B=la-21418] +[a-0]
) C-=la-u]-lg-2]
d) D= la-8l-Is-a]-]11-£] |
e = lo?-Sall -|8%-a8) +]284a- 1)
Y F= |@2-3l+128+1]-124 -ab).
o) 6= 182 -uh] + )19a?L - Lo28%]| + |4 + 204 - 30%]

@ Simpﬂf% ,%c S?nllowm} Qx[?msious.

Q) A. X*E21x| ) B= k2 H3x%
Ixlre | 9lxl+6
| Q c= XERulxl+y ) p= X%

Ixl+2 | ixl +4



EXANPLES

) -1k GIxltD =0 Y
Solution

et W = Ixl =» X% = lxl‘izéi , Hhes
() & («31~\?3633u) =0 & yly-D (34+4) =0 &
& "a;o \3«&:0\/3%*&.:0 &
L %;OV \é: LV%—_ 123 &
& Ixl=0V Ix{=4V lxl=-4/3 &
& x>on:LVx=_L
bhay §- 310,1‘41_
Nok -}'\na}c lxln-i/; has veo solukons stue
~3/3 <0 .

) Ix+3l+2-0 )
So Lution

(Ve !x %3[ =-9 <0 4« | imconsisi-cm‘&.

Thuy $=4.

A 19x-1l-5=0
soQMA‘iov}

(Ve 19x-11=G & 9y -4- o 9%=1tC
& x= 3%5 ={G/Q=3 ,Haws 5=13,-21.
% ~ufg = -9 |




&) lﬁxt? \x+914
Sofubion

N9kl = 1xt8]l © 2x4+2 = x93 V2= — (x+9) &
) W(i‘i&)}(_;-ﬁﬁfﬁwV?-x{—?: = -¥X-95&s 00

& Xz=6 V%+x=-3-9& x=6\V3x=-12

& X=6Vx=-4.
b S=56,-4%.

O lx-w=%2« w0

Solubton

Reqmm 5-9 06') YO x< /L
 thus downoin: A= (-,%/2].
CWMe x-4=5-9% Y x-4= .“(S 9.><3€==)
e x+dx=brSV x-4=_-Stox &
™ 3y=9V X-9x=-U4-S &>
&> x= 3\/ X=-1& L
& x=3Y x=1 <« o»r.gcg{: x=4 MSC‘L %“=%

t——-) rov e,qua_-hons 62 H‘te. ?—orm, ‘g(‘@l %()0
e Yequire :
. alro6 xeA o
V,‘,amL yebed— soﬁujnons 3{(«»4,‘- clo I/w‘l’:
Gelong. to A.



®) Ixﬂl,eli-xlzug *f w

SOL@LL'OW
x | *3  | ;7:.“: |
O xt3 = + |+
C9-x o+ =

D:shwguq}s 3 Coes: | o
CCare At 1P xeCoo,-2) been
x4z - (x42) amd [2-xl=2-x.
(WM e (XD -(9-X)= xtb&

& -X-2-94x=%x+S &

£ -%-5 =56 %X=-5-5=-10 & oxcepled
~lo ¢ (~oo -2)

Cose s 18 xe[-3,2)  thew
Ik+2zl=%x+3 omd 12-xl=9-x.
(MNe kz)-(2-x)= x+5 &

© X+tD-%ix =X%X+0 & Ix+l=X%xtsé&

© Ix-x= 5-1 © x=Usc— kjeded
. | 44 1-3,90.
Case 3 : 1B xel2,t00) Hiey |
Ix+2l = x¢3 and [2-x1=-02-%
T MNe (x+2)+ (2-x) = x+$ & |

& X3P E2L-Xx=%x+5 & §H=%3+6 %) XTO
. Thas S§=%-10%. | | rejeded

| 0d[2, 407




EXEACISES
Sofve  the GQua,Homvs

o) 94 [-5x -2 |

N ';c>2x9—§ . Slxl +#=-o

6) 3rixl . g d) Claxl-3)([x2l-x2) =0
l2xl+4 - |
@ Sollve Jﬂne eclua‘ri o § |
o) [2xl = 1kl e) lax-l=¢

B) 13x-al=12-w1 P lax?_sc-tl=4x
) lxtoil =192-yx) Y Ixt-4] =9x4+
d4) lix—3l =X hl' xZ2-x2+ Ix-1l =0

@ SOQVe ‘l“/\e eq»tqhoms
a) |2xl F12~x)\-x+l=0
4) |y-z(-3[x-d41xt=56
&) Llxstl =3lx-cl= &
d) |x2 -4yt3[-9(3-x2l =1



t—" Tnequallittes  with olsolile volue

The solubton of inequaliftes with alsolide values
i} @a&ei on '“ne_ ?oﬁeowin% ?ro{?&rl:ieh

0 1% avo, theu
Ixl¢a & ~agx<a
IXxl<a & -a<yx4a
Il 20 © xpaV x£-a
IxI>a & xvaV x<-a
2) 1# a<0 , then
(x| € o e— Inconsishkent because
x| £ @ «— Tnconseslent Ixl -0

Kl 20 «— Tdenh
Ix] oo «— 1&%({%
3) For e cae o<o:
Ixl<o & x=o0
Ix1 <o e— Tuconstsheut
i zo +— Tdeubiy
IxI>0 & % do

We a()@% %\Cs—t- properl'tes Q5 n 'J‘L.z Qo@ow(ug :

QX&W\() ﬂ&s .



ExAMPLES

Sefubon

19x-31€5 0 -5 €9%-3¢56 § In-2<5 o,

~5S<2%-3%

& §L‘1x4 8 & i X é 4 & xel-t, q]
Q%2 ~5+3 4-.-.__—~9. Xy -1

b S=C4d

CSolubion

92T e 195> Viax<-te
e 1-75>A VY A7 <9 & ~6>9xVg<ax

e XX-2 Vx>y
by S = (o,-2u (4 +oo>

o Ix-si<en e

SOQu{'w\ﬂ o

5 M Vxelh: lx Slro , it follows b



D 141-4y) =-3
Soﬁuh‘ovn

CVxelR: |94 -Uxlzo b
Vxea: 121-Gx]>-2 lwus
 selution gek S=1R.

(n ”e) Ix-21 = Ix+2]
Solution

Ax-2lz w3l & (k-2 (ke)r ©

& xP_lxtY > xZ+bx+d &

& -Ux+Y > bx+d &5 —-Ux- bx 2> -Ut+9 &
@ -lox > S lox £-S & x<_ L

s S= (-9,-1/e] . | %

I—-—* For MeC(ULQ,QH’I‘eS OQ’ Hﬂ& ?‘DVWI lg(‘&)\§l8()ﬂ))
- e awn vaise Squaresy Because BOTH

siJ»es o?v %e l‘vxeq\w&t% are %uarav\Leeal. o
b fe positive. S S

B | \x-zl> Ixel (@)

1—’ e CANNOT square Qothh sides ﬂe,,cosux
we do NOT kreow Lu\dehaex Qx+y i
po_sitn‘v—m or we%an-



Solution

D(s}u‘vubm‘)\/\ *WO «@yes -
Cose 1: %220 x%26 xel3,tw)
| Then Ix-3]|- X-3,
N x-23 9\ & X=2%>2+4 & x> Y
© Xx<-4 © xel-o00,-4)

—=0
.

-y 3
thas  $i= Coom)N [3,400) = g

Cose 2 : X-3 <0 €I X432 & xe (~00,3)
tHien ‘X~?’l =~ (x-2),
(DNe ~(x-2) Y9xth & -x+25> 9441 &
S -x-2x > 126 2x> 24 <L ©
& %L2(3 £ xecl-ow, 2/2).

=9

»—

| 2/3 %
s Si‘ Cvoa,‘l/%)ﬂ(—m"%)*—‘c—-m,q-/?),
Tk follows Haak be  soludion sek iy:
$=8US) = FU (-o0,2/2)
= (~,9/%).



P Ix+2]-J4{-x)~-2x >F ()
SoQuhov\

}

X "3 ‘l

x+% - + +
f-x | t + 9 -

Dt‘s\-inzuis\n three (ases: |
Caje 1 * For xe¢ (-e0,-32) , we have
lke¥zl = - (x+3) and 14-xl=4-x
(Vs = (x+2) - (1-x)-2x > ¥ &
O ~X-2-l+x -Qu ¥ &
E “Ix~U>FO -9x > Fir4&e -2x> U
&) x<-i£/i.

s Si= (roo13l2)0 G0 -%) = (oo - 11/9)

Case L2 For xecl3,1) , we hare
Ix+3l= X+2 aud  1i-xl=1-x
(N k¢2) -(A-X)-2x ¥
E XAD-1+x-Ax>TFE
(‘) Ox+2L>F& 0> -4 & Ox)E(——fﬂcowshkn{:




Thus Sg_‘% 52’0[-%,&)-:.,@’.

Cave %: For Xe[ijfmj , we ‘n‘l\rt
Ixt2l= x+2 and 1-x|=-(1-X)
Ve (kD + U-X)-9« 7 &
& X3 l-x-Ix ¥y ¥&
& ~Ix+UyrF® -IxT -4 -21x>3 &
& x<3/e

~%2 L
ths S3= (0.-3/20N [1 4e) = .
H {:oﬂows H«saL Hne c,of,q-i—,ovz sc_‘r 'y 3
8= S,USUSs: (co,- N VP UG = (-, -u/oz)



@

EXYEQRCISES

Solve e ,I'Qet»iuaiilie‘s -

) lx[<5 o) Ixl<go i);?lx,l-2>l;xl+e"
@ ki3 Nilxlye  Palixi-D>2Ix-2

&Y Ixl<-1L _3) lxlv-2  ©Waxl-l-2x] 23 -13«!

) Ixlzo W) lklz-3 @) 241kl g

lx (41
Sone *H.e. ihequaa:'fies
a) [-32xl >-¢ 2)12x42[ -4 Lo
6) 1-2x1% laxl %)lx-—Slf—‘i {0
e) [1t9xl <3 W) 9yx-%(+3 <o
d) lyzlz} D -3[7-x/t5 <0

) Ix-30l-6%0 ) [xL+3l >4y

Solve e inequallities

o) 12l + Ix+t0 <3

&) Ix+tl-lx-1l>4/1

) lax-tl+ly-3l +3<-|x+1l
d) |x2-4l-2x 20

e) 12x43l-Ix+5) <o

F)  Ix3t1-3y >o

P [x2-4) & |2x¥s],



}——) Quadredic gqmmejctcc equa_Jciom

- Oy Sn\mpﬁl‘s‘ '3*0 Wae ?D'm .

LYEN) x9f+ Bla)x+ ClL)=0

g Make s:%vzcharlc for e disariminaut
A = B%(0)- G A(a)C (o)

e Diih'(’ék!‘i‘nw e coses:

Alo) =0 «— Linear equation
Aro «— 9 solutions

Ala) =0 ! SOQ\J}iOM

Ala) €0 &— no real solulions.

EXAMPLE

(et x2 H(at2)x -4 =0 W
Suﬂujrioh

_ Fev atb=0 & a=-4 | | |
(W& (FU4)x-9 =0 & -Ix-2-0 & Ix= -2
) & X=-1.

 Assume. af -G

A= BEla) -4 A()ClD=

= (ar)*- Y (ot W) - D=

- a2+ ba+4+3(at)=

= altYatl+ Bar3e- ol 19a +36 =
< (at6)2



o o | }“76
(a2 | + i +
A | o+ § 4

CFor aelR-3-6,-¥$=> A0 >0 -

= . 9. solidiony:

Xy 2= _ B('“):L \/ A(a.) _ -Ca+9.)1—, i (Q'}G)i ‘ L

9A@ 9 (ady)

- -(Q+9.) (c~+é,> —a.~9.—a.~6 _ -20-9

oo e m——

e

. ~(at9)4 la4 6] s ~(at) & Cat g

Yaswd 9 (at)  L(atw)

;;W?écaJr% T
9 (atd)

,x¢:~(a+9_)+cq+éb "Q.-9~+(l"'6 4 =

T edwy 9lar®)  9louw)
=2

. oth

,«Q.For Q“—G

(e (-GM)X’L " C—G’rﬁ)x 9~ =0 &
& —-9_x7~ LYx -9=0 & ~2(x‘i+axf D o

9.(><+D"~~oc.> Xtl=0 x=-1.



Solution sel:

g %%-L 2kl . neB-3-6.-4F
]-1% -, eef-6,-u?

B (at)x* + Cq}i‘)x +‘l~%o | u)
Selution

" Fov otbh=-0& a=-% | , ‘
Mo (D x+l=0 & -2x+tl-0 6 %y=1 &
| &S x=1/3 |

Assume Yol af -G

A = (a4 )T - Glatw) - =

= o2+%2a+ Ll -bo-16=

= o?-2a-15 = (a+%)(a-5)

LB ' m2 s
Cod3 | - + |+
- oa-5 - - +
Ay + - o |
For ac(-a,-2)U(%,+9) , two solubions-
X(,9 = 'E(Q):Lm o
2 A

,_. ~ (o4t V0ol 9015
Y (at)




Fov, a—~3 | o
- (3+‘DX7*+(~3*D\<+1 I
& x%2_-9x4l=0& (x-1N2=0& x-L=0
& x=1.

For a-= 9

G SHD)(?— {-( 94—0)(4—& oé)

& 9l ibx+l=0& (Zx+L)7-Oé=>

& Ixtl=0 & Zx=-\& x=-43.
For ace ("349 =2 A2) <o = ho lenQ. soQu:hOus

‘Sl%-[au)%[oﬁ- -2a.-15 W_“-(aﬂ) {a -—-2«-—;5‘ }

¥

ﬂ.(a{—‘-ﬂ B 9 la¥ )

t?* cxé(ﬂ» —H)u(~ ";)U ( ?mm)
{13! ;,;E a=-Y4

o %il%},




EXERCQSES

@ Sone,-an QoHowMé e,qu.a{’l'om wihh
\'esp,e(} "’0 X ~

) (3a-1)%x% 19x + Ua-1=0
8 %ox% -(atdx +3=0 o
0 (4-902 xT + (o-)x —o(ot) =0
d) (0-9) x? +9(a+3)x +(2a-18) =0
&) (2a-0x2 -2(a+) x +atl=0

£) (a?2-Dx2 -b4lat+a)x +3%=0



¥ EfzuauHOWS, wilh vadicals

¢ TL»CS& avre ,ecluo»{fo.hs wL\eveim J{Qe. uukwown X ,u(;{zequ
Q.{ QeasL waler ovie ngake v,oo{:. , -

» The square vools con Be eliminaled @3 Squuh‘v\oé

@oun sides O_Q fue QC(ua.‘n‘ou usmé ‘HAQ ?ro[)ev‘&'\g

Va,0e [orm): (asBe al=42)

w?— jdf\crcgorc L'CWC, %'0 So&s“)g‘é, ‘H’\Q—,.CQV‘SLVQWF& '“4&(7 QOHA
Sides of e equation pust fe pose‘[‘(’ve or 2evo Qefore
mmmb _Hn: ,sviume_.‘[(ais ,co_v\s,ifruiw{‘ imgose,s o Aoma,?n A
thal  wust B wed do  ocept or reled e selubiows
founnd.. | o !

* e clt‘,si-im%m‘sla {he &ﬂowin% Coses ‘.

° e vequire: S

jlgud?a & by XeA —— Domain
%Lx)‘»’?o B

g Solve '“A&QQH&HOM: R | |
“Lx) = \[ta.m RSD) ,Q(x) :—g(‘é.) &--- & xe e

3, /&rccep{i /*"QSCLJ(‘ so fubions - S = So NA.




EX AMPLE

Sofve. Vixtd = \’i‘x
SoluBRon

?\eq'ulre: %3x%t>/o £ 3 2%z -1 & iX?f"&[z
9-xZo L2 X P XN
& xe [-1/%3,47 e A=(-yz,97.
Nole {at
[t <l8% & Zxbl =9-% & 3xix =2-1 &
&= Yx=l& x=1/4«— Q.C.Lei?j{ot
(% ecouse L4 e /5:) .

I Slows Haab S=%Wt3 .

g@—" \[é_b::%tx)

Nole %aE &a weed. szo ; Fu(H«wma&e, 'U«z eq‘ua%‘ow
has wo saguhoms wtk,\ %(x){o Sivice ft&)ei&*—%
\[m 0, 50 we cam 8o ohead aud requive

%(K) 7o o ju)kf\é Sclqow;wcb_ Qolhh  sioles 02 Re
equation. O the ofler \n;q“i, V,gClucwt‘wg e eQualn'ow
%iv@ gixc)r-{ (x)]q“ ami. Since ggr am% Kég
iz(xﬂg‘,>o = Q(x)?»o, it Qn%ws fuat th:c |
v—esuﬂ-m% solubons are %,uavamkei o Sa{-isi‘-é. g(x)?o,

Cohsgc:[uenk%, ik Gv\oueb‘n fo vequiré Om@uc b(‘d?ro._




oauhm/g Heunool. o ,
*1 F\ﬁquure %(x)> 0 & - & xeAy.

i S Eve :
VEro () Y = |
3 ge;ﬁu{ﬁom% Zcfj E(K é%{‘:::ii T So

EXAMPLE

Solve Vxt-9xt6 +?>..= 9»>< -
Solubion

[x8-9y6 13 =9y & x2-2xtk6 = 9y -3
?:c[utve Ix-2> 0 922 & Xé (2/2 + ) N
wd AoMouv;'- A L%/Q +w> A
(Nes x*-2%+6 = (9¢ 3)1@ )<9‘ 9&6%6’({ %_
& (4-Ux+ 12+D)x + (9-6) = 0 & e

& Ix2 ~-lox+%=0 (2)
) ) |
A 0% bac = (102433 = loo - 3¢ = g,q ._gg,
= Xyg= ’@ir .c—(~w):5-_‘8 _ lots® ~
%3 c

{ 3/e~% €A e——ace‘c
9/6 = 4/% A*’"—“YQZQP(,}C

1% Qo%ows , 'K\ajc S 5.?? :



@—‘\[?004-@}&)-:—? | ,‘
| P g0 bt =0

b)e Wse .Vhe_’ go.@owwuz Pro?e}%%
Vo +{ag + -~ 4{on =0 & ai=0 Aag=0 A-- fauzo.
App%lﬂé Hm's onpev"\é Otoef , NOT ?'EC{LU'!‘Q Us L

f"“(ﬂ’?ﬁ a omonin on )[{«,a umkmown X .

EXAMPLE

Sofve: I x%-9 4 \/kxa‘i-Sx t6 =0
Solubion

&

Vx*-9 %,\/)c’-%Sx%é =0 & 3 xt-q =0
- UxMiSet6=0
£ 5 (x-3) (x62) =0 4 3 x-3=0Vxt3=0
(x¢+9) (x¢3) =0 xt9=0V x$3 =0
S % x=3 Vx=-3 & xe13%,-3%n%-2,-2%=5-3%.
v><=-_9;VX=—3
Hﬂu% S: %’32).



| N o = h& | -
Vi # s/%(;d g

T‘M Soﬂuboh w;e{’too ls -Hne. sowml gor @o\(i\ {Qes oQ ,
, G?uoi‘whs &)tK‘om‘. Qa;; ] %é’hemﬂf% Covmo(er 'kne_ etiuq}mw:
| JTLTNTF oo, o
,_PHeR\J. | - B
i Require ;,‘Qus)zo o S
% 300 &5 xe Ao
hizo

"9 So.Q.ue |
\/?m + J_g_(;— L\L\c)zi:) (\/— 4—\@?) [U‘éﬂi
& Qooy e 0, oq%w taw= Lhinl*tes |
& iﬂtx?%(x [Hx% P - _%lx) o

((»Mvc 9% equq{-\w) B o |
_®3 Kec}uwc (v ml Qm %(x)‘> 06&)----£> xeAg
ey Solver o
(L& Hetx\gtx) = C[Hx 19‘ Q(x} %&\)i é) -

°g For 'HAQ SO&EOV\ 961:

S ; So nNA0Ae,




EXAHPLE

Sollve © Vx40 =V5(xea) —{ wey
Seflubion

Y :\/SC}(&-‘}D,“— xr{ &

e Vxro +Uxel = V5ixn Q)

bRequirer | X+620 X% -6 X% 0
XlZzo & | Xz~ &H V) X2-1l &K1
Skt)zo | xtd=zo X% -9

bhao A= L'Lﬁﬁ@- o ,

(Ve (Vxre +{xe1 )= s
& (x£6) ¢ AV Ixre) s + (xt) = 5(x+2) &
& LV Ot6) (xeDd = 5(xe8) - (x4 6) = (XD &
& L/ (xF6)(eD = Sxtlo-x—6-x- 1
& 2[{&%) () = 3x 4% (2)

> Require  Zxt2Z70&) xlzo & x% -4

%L\us AQ_: t"_i,-_v,‘(‘OO),
(2)en U (xi6) (xt) = (3xt3)L & H(xL+Txtb6) = §(xt)*

& 4xT $98x +94 = 8% raxt O &

£ xT+92%8x +24< SxT 4 (gxts &

o (3-Wx2 4 (18-28)% 4+ (8-24) =0 &
& 9xL -[0x~1b=0s xP-9x-%=0
& (x+0(K-3)=0 & %Xtl=0Vx-3:=0 &
& x=-tVx=2.




& _@v%wﬂ, fhat e sollubionn set peads: |

S=4{-t (%% 0 A; NAg = gf(fﬁﬂ (- ([, fo2) N [*l,iw)
=2y

“nus‘ @okn 50201{‘?’0:45 are accepk&_, ,



EXERC\SES

Selye Hhe e.quud-ion;

& ¥ 3xt $2xtl ~13 =6x
) x-Vx2-# =7

Q) ¥x—V4-x2 =

d) x—9/x24xrz =-%x-2
) 13- Ux2s7x—8 = 2x
$) Vx=g +{xi-ax =0

) 3Vx—1 +Vx2- 2xu $Vx?-x2 =0
1«02 Vixt1l +Vx+(

i) Vx-92 - Vix =-\/?
P V¥t -Vixeg = Vy—x
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